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Mathematics 280, Testing Series (Section 11.7)
Theorem:  If the series 
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converges, then
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(TEST FOR DIVERGENCE) Theorem:  If
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, then the series 
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diverges. 
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Integral Test: 
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 decreasing, continuous, positive. 
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 both converge or diverge.
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P-Series: 
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 convergent for 
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Geometric Series:
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Direct Comparison Test: 
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Limit Comparison Test: 
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Alternating Series Test:  
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Absolute Convergence: The series 
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Ratio Test:  If 
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                                             (i)  Converges absolutely if 
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                                             (ii) Diverges if 
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  The ratio test is inconclusive when
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Root Test: If
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                                                 (i)  Converges absolutely if 
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                                                 (ii) Diverges if 
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  The root test is inconclusive when
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.  We then must use another test. *L acts like r from a geometric series.
Note: If � EMBED Equation.DSMT4  ���, then � EMBED Equation.DSMT4  ���might converge.





Note: Good when � EMBED Equation.DSMT4  ���easy to integrate.





Note: Good for series trying to be p-series or geometric.





Note: Good for when you have exponentials and factorials.





Note: Good for when you have expressions raised to the nth power.
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